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RDENENDEZRD K.

a) ¥32=2°=2 b) vV=8= /(—2)3 =2

¢) v=0.001 = J/(—0.1)3 = —0.1

MDENBNDEERD K.
a) Vax Y16 = /22 x24 = 26 =22 =14

c) v0.0001 x ¥10 = v0.001 = 0.13 = 0.1

RDENENDIEZRD K.
a) (V4)' = Vw5 =2 =2

MDENBNDBEERD K.
a) 30 =1

) 2594 =1"%=1 d) (%)‘3 _ (3 )3 _ 27

RDENZNDBEZRD K.
_l__ 3y—1 __J7

a) 2773 = (3°) 3_3

) 3204 =253 =22 =4 d) 10072 = (10%)~> = 10!

(6] ROREFRENDBIEHZBNTCERE. 72720, a>0&ET3.
a) Val =as b L = =

C) %ﬁ:a% a% :a%""% = qé
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b) 83 = (233 = 233 =

b) {9 x ¥36= 1 2230 = VAT =3

d) VB0 + V5= {5 = V16 = 2" =2

b) vV—+/729= V36 = Y33 =3
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ROBN7%Z, YVam OEIZERE. 1=72L, a>0&ET3.
a) a3 = 3/52
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RDBRZFTEL, BXENEIBUODETERE. 272U, a >0, b>0&LTD.
aa
e -

1 1 1
a-a3-a"s =qg't3

3 3 1 1 2
d vad3b x Vab? az-bz.a3-a3 3415 bl_,’_;_l b
) o= = 1 =q27376-h2T376 =¢q
a’b a6 -b” 6

e) 1078 = 1073 x 108 = 1076 x 103 x 108 = 1076+3+3

h) (aP~9) (a9 ")P(a""P)d = qP 9" . qPI~PT . q97 P9 = P4 HPImPTHAT—PG — 0 — |

9] mOBLOUEBHEICE L.

a) (Fxh? = (2 p2cka (B = x4 2407 (=x 24 %)

b) (@b ' 4+a"'b)y? —(ab ' —a'b)? = (a’h > +2+a ?b*)— (a’h™?> -2 +a ?bh?) =4
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a) 20°=1414 £33, CDESE, 279 OEPUEIE, 27%° =205 x 271 = 1.414 + 2 = 0.707

EVSASICHETES. CNAEBRLT2'S, 215, ... ORMEERD, B8y = 2% ICD\T
DRORICHTIFES y DBENHTRY.

X -3 -2.5 -2 —-1.5 -1 —-0.5 0 0.5 1 1.5 2.5

y | 0125 | 0.177 | 0.25 | 0.354 0.5 0.707 1 1.414 2 2.828 5.656
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ROBEINS VDDA BIBICTEAL. 1071, 103, 10°, 1072, 103

10 < 10” & x < y 205, FBHEDNSWVIRICTEANNUEEKL.

—1 1 0 2 3
107" <1072 < 10" < 103 < 102

(13] V2 & JBORNEHARBDIC, @HZBURERTEL, V2= 98, ¥3=99&0T, ¥ O

b) FORZFABLT, BHEM y =2* OIS T2 TSRO TE(CHIT.

RO/
a) 4% =32

c) 3* =

&3 =30 x=0
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b) 125% =25
¢>22x=25<:>2x=5<:>x=% <:>53x=52<:>3x=2<:>x=%
d) 3% = V27
@3)6:(33)%@316:3%@”:%
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POEELENDHEDDD. IRDSHEDEDR/INZLENK.
a) 6, V14 b) V10, /31 c) V3, V4 35
V6 = Y63 = Y216 V10 = Y103 = ¥1000 J3=32=239
Y14 = V142 = Y192 V31 = 312 = Y961 Va=V2=Y23=18
- N6> Y14 - V10 > /31 L3> Va1
J5= W25
Va=v2=25= 3
NA> Y52
), £DV3> V4> 5
A4DDREH y =2, y=27%, y=-2% y=-2*DOISTEHI.
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